Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.9.dwg

STEVES

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

DIRECT GLAZED FIBERGLASS DOOR

GENERAL NOTES

DOUBLE

INSWING/OUTSWING
"NON-IMPACT"

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHI).

material shall be beyond wall dressing or stucco.

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base

When used in areas requiring wind borne debris protection this product is required to be protected

with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

buck masonry construction.

a licensed engineer or registered architect.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x

Site conditions that deviate from the details of this drawing require further engineering analysis by

3/4 LITE 4 LITE

REGENCY BROOK 3/4 LITE

74" MAX. OVERALL

TABLE OF CONTENTS

SHEET # | DESCRIPTION

SHEET #

FRAME WIDTH
R = =
z 2
.2 =
<5 <3 /s J s
O£ o5
2T <0 A/ A7
O <=
25 = = °
< o5
L <
& X X
T  SURFACE | DESIGN PRESSURE (PSF)

_POSITIVE | NEC

Typical Elevations, Design Pressures & General Notes 6

Horizontal & Vertical Cross Sections (1X Buck)

NO +20.0 -25.0 +20.0 -25.0
XX 74.0" x 81.5"
YES +40.0 -45.0 +40.0 -45.0

1

2 Door Panel Details 7 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Door Panel Options 8 Vertical Cross Sections

4 Elevations 9 Buck & Frame Anchoring & Hardware Details

5 Horizontal & Vertical Cross Sections (2X Buck) 10 Bill of Materials & Components

W 1y
QSQ\ '15 l@f‘?
ST O
SO 4 8
\\O.' -¢¢ A
:s: ()] ‘&: g)]
Sy 9 6. JZg "
=5ig S« /pEEZZ.,
= ; & oM
—(D.g o E’-o:m i
- e P4 > ~F 0O
A SEET L
'~ % * < 'C
2, 2 O B8 .
7, .. . N 4 0D w0o
%), *c-eefee-* Q) 3>452
,// RD\\ 0 .-
7y P Zdmp
T T oM =
& ON . 0
o o O
X
32 23°%¢
BEO} amo
a £0 0 . cuw
88¢ SOOE.
qlr "2 @mdzd
g}zuﬁ
R
~lE 6%
ofs T .
g[8 Su
Sle 2

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/10/22

SCALE:  N.T.S.

DWG. B:  RW

CHK. BY: LFS

DRAWING NO.:
FL-41467.9

SHEET _1 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



" ZAClients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.9.dwg

24 - 1.2" 2.4"
Y EXTERIOR .
: —_— — =05
? bl&' ’ \ \ / [ '; 4. - v
_ W@ - - b‘ .‘4 s C b a
ig L ;; :§‘.".. l ¥ l .."."; I o
— - B R N .. ..‘ N . ";..
* .‘Bﬁ N : N 9'./ '_-/ \_—\ \..e . .. <]
INTE
COMPOSITE HINGE STILE —————-—————RIOR LOCK BLOCK LATCH STILE COMPOSITE
CAP {LVL) 19.75" LONG {LvL) CAP
LVL
/1" HORIZONTAL CROSS SECTION (Vi
\2/
. 3575"MAX. DOOR 1/2'
WIDTH SINGLE LITE (4X) GLASS BITE
9-5/8" X 22-5/8' D.L.O. EXTERIOR —— 1" O.A. THICK GLASS
21" MAX. D.LO. w/ FALSE MUNTINS
WIDTH . /8 TEMPERED GLASS
D Ty DECORATIVE INSERT (BROOK)
\ GLAZING R -
COMPOUND [,
[ AR SPACE
2y L. b/ } N\ 5/32" TEMPERED GLASS
' ' INTERIOR
710 i SWIGGLE SPACER
O
= AN GLAZING DETAIL
il / Vi
5 == T t
T 5O V4 VA i
2’4 "‘—! 7 7
g ° © 1
a
: J N/ | T
N \
™~
SEE HARDWARE TABLE
X (LATCH & DEADBOLT)

&

@HBERGLASS DOOR PANEL

FIBERGLASS DOOR SKIN: MIN. 0.08" THK.
CORE MATERIAL: POLYURETHANE FOAM

LATCH: SIGNATURE SERIES
KWIKSET DEADBOLT:  SIGNATURE SERIES (980)

LATCH: F51
SCHLAGE DEADBOLT:  B6ON

LATCH: PREMIUM HANDLESET
ROCKWELL DEADBOLT:  PREMIUM DEADBOLT

\N 7
W ¥ 7y
\‘\\ AR S 4',/'/
\\ & o". M /® ,/ s}
S Q- " o
LA . )
-~ ;: [ ‘_'.&: 5]
. 5§id 3 8. 32"
COMPOSITE Y ZOl Sk BES=fop
CAP =05 3 EIOSY 555
| 2 OIS Z L0
e ” 3 ..’Q\ STy,
,,/ .."'~. o X \\\ 5' g @2
b “ xpRPW 22 s
N ST A 38”5
TOP RAIL - S o x8®
(LVL) 1 3, 28°¢
g co Q cw
Sl dY 522%
g = h:¢ 311 s I 1 N TR
: N e o
A d\ g 52 LE
FIBERGLASS SKIN —IfF» “» % a5 3 .
£ . g3 cu @<
ST = e 2
~? .'//v .
H
¥/
" /4 .
. ,' L % n
% 23 3
SRS Dl xk
L. 325 8°
Szl 84
nol= L
Wi g jid =
owler <
Eol o
e n L o
Q o
\ 8 &
EXTERIOR INTERIOR g s
>_
m
TN 2
K - \}\ al
%\ o
LN .
K ».. ; v %
FOAM CORE — [, % ° & g
(POLYURETHANE) S " =HE
- =K
= O :
BOTTIOMRAIL __—1= Y] I
REINFORCEMENT ° o |8
(LVL) owE 3/10/22 | 2
- [a]
b1 | SCALE: T1.5. o
BOTTOM RAIL— L= N.T.S 5
(COMP) DWG. B: RW o
cHk. B:  LFS z
14
/ 2>\ VERTICAL CROSS SECTION DRAMNG NO. o
SHEET _2 ofF 10 g

atdillille
v L i




TON| SLNVIINSNOY anNIagTing

MY 2202

LT S
SESEE 14 ‘O9MIPA ‘0£Z Xod O'd \SV SNOILJO T3NVd 4000 e OF Q||| ~ m_
Nt SINVITNSNOO oNIaTIng @u KIBNISSY 90 14vd W_M ®1H], 28
Ifa— —sn\ Z e
///Mkﬁ J(ZO\QQ\\\\ 60vSH ON ‘T'd 4000 SSY19858L > bl & g, 3_
/oUAnEo.EQ %, WPIuuds "4 uopukl SNOS % S3ALS i m sleET|H
> ‘Iondoud HEIHHEHEERE
¥
% 6OVEYON
"- .-- ,,
&w.wazmoaol-u“) //hf
Seunes Ty o)
% (7] \\SIOm W///I/
I
L
| -
—
el
J
e 0 ™
AV
. X
////:/ /./”/,/ w
— ~ o<
. - - “~ ”
O
¥
Q<

BMP'6 L9 L p-14\0202) L9 Lb-TA\sBumMeIq - J\SIRIIS ADNIOTY £9¥Ly-1d\s[eroiddy 1onpoid epLOI - Y\IUBUEULIRG - SUOS PUB SAASIS\SIUSID\Z



"ON| SANVLIMSNOG aNiang

‘M8 BBOZ O

wiitliie

©186 ‘ON Ansibey 3dad SNOISIATY
£L616°6G9°CL8 ON @2uoud A8 4lvd [ON oo
S6SEE 714 ‘OOUIDA ‘O€Z XoF ‘O°d S SNOUYATTS Jlulzle| ~ 1_
"ONI “SLNVLINSNOO ONIaTINg g XIEN3SSY 90 Lavd SI=EF|F. €8
/rﬁ 11, 4000 SSV19M3gld N R
ROREY ...,Kz.o\m.%\\\ oYY ‘oN ‘I'd SNOS % S3AILS “lalE|Elg L |
S . 1LONA0Ud 51815815|5 %
~ s .
% X
oo
/.M/ /Mf
////, N
o< ()| .
/ 5
° O —=lse
S E
b o
.
L
SU all e 1“
“x.. .
ol [ .
- .
|0
b

BMP'629%L7-14\0202) L9 Lp-14\sBuiMeIq - D\SIIMIAS ADNIDIY L9¥L-T-\sjerosddy 1onpold epuold - Y\UBURULISd - SUOS pue SaAIS\SIUBID\Z



ZAClients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020\FL-41467.9.dwg

B

4

ST L
0.15" C-SINK

. \ *} = )

vf | 4 | ,/®

D » . 5

o4

o

INTERIOR

I/

'

~

1-1/4" MIN. 9
EMB. (TYP.)

@)

/"1 \ HORIZONTAL CROSS SECTION

w Shownw/2XBuck
Outswing shown (Inswing similar)

Note:
1. Screws located 8" from each end of astragal plus
four (3) more located @ 23", 37" & 48" down from
the top of the astragal (5 screws total - countersink 3/16").

EXTERIOR

L~

1-1/4" MIN.
EMB. (TYP.)

SEENOITE1

EXTERIOR

INTERIOR

/ 2"\ VERTICAL CROSS SECTION

& / Shown w/ 2X Buck
Qutswing shown

%

-\

%

m HORIZONTAL CROSS SECTION

W Qutswing shown (Inswing similar)

—(
——@©

v

a -

<
“a
.9 a

1-1/4" MIN.

EMB

S/M
O

TYP.)

e

7

EXTERIOR

/4

INTERIOR

7“3\ VERTICAL CROSS SECTION

5/ Shownw/ 2X Buck
Inswing shown

June 7, 2022

FL 33595

BUILDING CONSULTANTS,
P.0. Box 230, Valrico,
Phone No.: 813.659.9197

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

FIBERGLASS DOOR

STEVES & SONS
PART OR ASSEMBLY:

HORIZONTAL & VERTICAL
CROSS SECTIONS (2X BUCK)

PRODUCT:

BY

REVISIONS

NO.) DATE

oatE: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41467.9

sHEET _ 5 oF 10

© 2022 R.W. BUILDING CONSULTANTS INE.



TANG SLNVYLINSNGOD aNiaTinNg "M 2202 @]

€186 'ON Ansibay Id4gd SNOISIATY
L6LB°6S9°CLE "ON auoyd (>ong X1L) SNOILDIS SSO¥D g Iiva TON
sesce 14 ‘oauten ‘osz xo8 0 [ WOLLYIA % TVINOZIMOH ulzle] 219
o _..m_.zﬁ._:mzoo oNIgTINg @ KTANISSY 90 1avd S| = 3|5
w 1y, NE g%
SEWNGL e ozl BT RE Sy [els 1|
S sy N, s el RETH R
~ & o ¥~ kg paipdesd sjuewnoog 11oNA0dd M M m W w 7]
3 .... .._. 20T ‘L dunf
+ - 6OVEYON .
- . K ~
\“\ -- ..- .H..ol
G &
“11; WHO'S W
OIS
o
o]
7
——mﬁ
p4
=
)
e
O
{11 ]
(71
a
Qls
o0
=3
g
8] B
=lSc
ac|23
wie
>I5E
[2"4
o o ~0
[N
>
i}
b
L. a4 ,
- V o ("dAL) '8W3
s mw NIW /11
-4 E N
= : I
- _ 2
. “ “
\ o
- ol
S mR.. 25
b
g g a3 m
| S[z2
4 g B M
- &|3E
| . >i50
. N os
R o
. ><
\\/\ (R
("dAL) "awW3
NIW JF/1-1

o
o
&2
=
Zz

/t
i EXTERIOR

/"1 \ HORIZONTAL CROSS SECTION

%%

38 &

1-1/4" MIN.
EMB. (TYP.)

w Shown w/ 1X Buck
Outswing shown {Inswing similar)

g
v
v
<
v
9
A
RLERLLRRRNANY
9
v
2
=75 1T 1T
< .
v
<
Ja .
- v

BMp'6 297 LE-14\0202) L9vLp-T4\sBumeIq - D\SIYIS ADNIODFY L9¥Lb-Td\s|eroiddy 1onpold BPHOLS - Y\IUBUBULIR - SUOS pue SaABIS\sIUAD\'Z



‘ONj SINVITINSNOD 9NIaTiNg "M 2202 )

£186 'ON Ansibay Idad SNOISIAFY
LBL6°6G9°CLE "ON suoyd (AYNOSYW 0L 10310) SNOILOIS JG IIva FO
GBCEC 14 ‘OOMIDA ‘OSZ xog "O°d \:u SSOHD IWOILHIA % IVANOZIMOH N ﬂ eI m m_
—0—7_2_ -.uWPZ(._.JDmZOO ONIgTINGg K ‘ATEHWISSY 40 Lavd W m e _Nr._ n% &
\ ss\ ] R
o 1 4000 SSY19438l4 2
SR NG, e SNOS % SIALS >, l8les 1)
X L NEGTy . Y, s i uopufy TEII rall
> .- *s D\\im paindeid sjuswnoog -10NQ0¥d 3|8 z W W M

‘R
m‘
o =
i3]
Z )
G
o
w2
1% 152
o)z
Sl
=(93
Siss
=lc?
=183
S5
o o™i
Q
[2°4
]
5
('dAL) "8w3 —
NIW F/1-L
("dAL) 'gW3
NIW b/ 1-1
[s™4
o
o7
m_
= =2
o
&
! >
4|5
als
o2
&iof§
Ol=3
|35
<=
up2
EIS2
o.ol
Xi53
o<
LLJ
= @
L

INTERIOR

1-1/4" MIN
EMB. {TYP.)

Shown Direct to Masonry

\7/ Outswing shown {Inswing similar)

m HORIZONTAL CROSS SECTION

BMp's 297 LP-14\0202) L9%Lp-T4\sBuImeIq - D\SIIY3S ADNIDIY L9vLP-Td\s|eroiddy 1onpold epHOld - Y\JUBUELLR - SUOS pue SaABIS\SIUSIIDNZ



SON| SANVAINSNGOD aNIaiiing "m's 2202 [@)]

€186 ON Ansibey 3dad SNOISIATY
L6L6°'6S9°CLE "ON euoud SNOILOAS X8 31vd_TON o
ssses 15 “oomon ‘o5 08 04[] SSOMD VALY Nalzle] 2|
a _“.mshz,&.._:mzoo oNiaTing @g KIGNSSSY d0 Luvd SIEI%H]. €
SEMB e ol BT S| i3
SO s aieriee., S8 IPILYDS 4 UOPUAT : e
S aiioiy - 2R gldlg|2|E = |8
RN D\\\;m paJodeid sjuswinoog :10Nao¥d HEIHEE &

TT0T ‘L dung

15

INTERIOR

(30
32
G

A\

/ 2"\ VERTICAL CROSS SECTION

\\3_/ Outswing Threshold

Ne——

EXTERIOR
39

('dAL) "gw3
NIW F/1-1

m VERTICAL CROSS SECTION

W Inswing Threshold

('dAL) "gW3
"NIW /1L

@

BMP'6 29 LE-14\0202) L9vLy-14\sBuImesd - D\SIYIS ADNIDTY L9¥Li-1d\sjeroiddy 1onpold BPHOLS - V\IUBUBULIS - SUOS pue $9ARIS\SIUBIONZ



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvais\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.9.dwg

FRAME CORNERS ATTACHED w/ (3} 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2)
#7 X 1-5/8" DRYWALL SCREWS @ HEAD & SiLL

&h_> (TYP)
. . ]“ . . [—-— 2" (TYP-) — 3!: (TYP) e e 6" (TYP)
Gl A ~— 4P ! £ (11P) —— |
’ I 1 ) 8 T 10T | L] T
ol T ? +— N
e~ © & \ ° g =S SEE HINGE
o TE - 2x BUCK - = o DETALL
/ 0 1X BUCK 0 (TYp)
2XBUCK 11 - FRAME || DIRECT TO SeE — >R
HEAD & JAMBS MASONRY \\ ASTRAGAL/SURFACE
\\ (TYP.) HEAD & JAMBS BOLT STRIKE BOLT TERE
L 4 _ (TYP.) DETAILS 1 T
Oz SEE LATCH
GE PE & DEADBOLT
L .l e —Il GE © DETAIL
) OOR SILT = g l
A _ D - AR
[ ': . — 7 g :? ‘( ) ' . )
Ve T ~\ - =
HINGE JAMB COMPOSITE ASTRAGAL
7* STEEL FLIP LOCK FLUSHBOLT (5/16" @)
MASONRY @ EACH END OF ASTRAGAL
2X BUCK ANCHORING FRAME ANCHORING
DIRECT TO
MASONRY
A 1X BUCK
MASONRY s A (L2suce
DIRECTTO o [le~]
MASONRY IXBucK W\ @é-ﬁ. Hle S \®
1X BUCK o 2X BUCK ASTRAGAL BOLT
® SO 8 G \z
2X BUCK /
@? @ e HINGE DETAIL
\ ol =hr—r ) F"@ INSWING
T = = 7 N @< I
f o \. ‘7‘l \ / o W DIRECT TO
s / , W \ MASONRY
2x BUCK( J @ @SsiLL LATCH & DEADBOLT DETAIL 1XBUCK
@ 1X BUCK @ HEAD e Al oX BUCK
DIRECT TO e 0| el
@ HEAD MASONRY ®é" e \@
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS AN
INSWING OUTSWING \
HINGE DETAIL
HARDWARE DETAILS OUTSWING

June 7, 2022

0
o
[Ty

)
gvf)
= N
Lo
2 som
Z 00
ST .
T oW o

) 3 .0%
Z O

W 52399

x> oo - 2

o, oD

v v Oézw

e c z 8

5 Ep FMo

a £O __,,Cu.l

Pay 5028

a R Bone

it

@Cz

0

£ 5=

g gu

s 2o

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BUCK & FRAME ANCHORING
& HARDWARE DETAILS

BY

NOJ DATE

REVISIONS

bAaTE: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—-41467.9

SHEET _9 oF 10

© 2022 R.W. BUILDING CONSULTANTS [NC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.9.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 1X BUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H 3/16" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 COMPOSITE JAMB COMP
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
25 #8 X 2-1/2' PFH WOOD SCREW STEEL
27 #10 X 2" PFH SMS STEEL
29 #10 X 3" FH COMPOSITE DECK SCREW STEEL
30 8" SURFACE BOLT (HAGER 275D) STEEL
31 SURFACE BOLT GUIDE PLATE STEEL
32 SURFACE BOLT STRIKE PLATE STEEL
33 #10 X 2-1/2" PFH WOOD SCREW STEEL
37 ASTRAGAL STRIKE PLATE STEEL
38 ASTRAGAL (COMPOSITE) COMP
39 #10 X 2" FH SMS STEEL
40 DOOR PANEL -

41 #7 X 1-5/8" DRYWALL SCREWS STEEL
42 #8 X 2-1/2" FH SMS STEEL

1.25

|

0.75"

4.56"

1

1.44"

213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

5.62"

@ INSWING THRESHOLD

Columbia

wood screws to prevent the splitting of wood.

sHEer 10 oF 10

\\\ 17; ',
\\\\ ...... 4'/,/
S R i 7 <
\\ &‘u' . @ /, ']
: \Q.'. "0%'; %
=3 1 L=Z
= 8‘53 Z g: 2 Eom
A L1030 555
-\ TS Z 050
- L XN . g: < T %
3 2, P . S Doeg
A /,/ ...... \\\ 2 > vz
,/I’I « \\\\ % S’; ©
LTI AN Y SR .5
s % o x2 9
PR ozgcxw
288 § 2w
oy 592%
qle P2 @azl
0.94" S 8 u
N e )
COMPOSITE ASTRAGAL =fE 52 §
38 g2le Bu
BIE 5 &
o
us n
£o| =L
»ne xZ
Ll
& Um') vy =2
528
nal® <
1 WO = L o
2.44 ' ) @l S
1 | i 5 2|9 g
2 o =3
) < 3] & ©
oo} 2 =
Y S .
- f AN o
{ . >
Ul ‘ m
4.6
15 OUTSWING THRESHOLD
Columbia
%,
=z
o
]
o
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the corners may be adjusted to maintain the min. g
edge distance fo mortar joinis. z
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to o
maintain the min. edge distance to mortar joints, additional concrete anchors Ll 5
may be required o ensure the "MAX. ON CENTER" dimension are not exceeded. "<E g
. Concrete anchor table: ol |3
C =z a
S TYP SIZE | E ENT{
3 -1/4" " 1-1/2° SCALE: 3
TAPCON® 1/4" 1-1/4° ?” ye : N.T.S. d
DWG. BY: RW o
DeWAl'T 1/4" “ 1 " " " -
ULTRACON? -1/ ! 4 T EEERE
WOOD SCREW INSTALLATION NOTES: DRAWING NO.: 5
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41467.9 N
N
Q



